8192 Element Vector * Vector:
All1=B[]*C[]
From Hennessy & Patterson, Figure 4.13

‘ AL 07J=8B[ 0 1*¢[ 0 ) ™\
? sMp | AL 1 J=8[ 1 1=~¢[ 1 ] 3 N =
| *u%',';’&.; el : \,\)\\\ \ue aqg»gw* In
| Al 31]=8[ 31 ]~¢[ 31 ]
AL 321-8[32 1" 32 ] “1 e.’\k"d'?’\o ove M.
simp | Al 33 1-=8[ 33 ]~¢c[ 33 ]
" Threadi ) |
| Theead - . .. . e
| Block A 63 ]=8B[ 63 ] *c[ 63 ] . \
o AL 64 1=8B[ 64 ] *C[ 64 ] =
1;{ 4;9] ;9[ 4f9 ] :c[ a;9 ]
[A[ 4801 =81[ 480 ] ~ C[ 480 ]
SIMD = "
| m:am | AL as1]-8[ 481 ]~C[ 481 ]
L " AL sug=s (5117~ ] ¥ "
, A[ s12]=8[6512 ] ~¢c[ 512 ] [ e
Grid -~ - - <
AL 7679] =B [ 7679 1 * C[ 7679 ]
TA[ 7680) =B [ 7680 ] * C[ 7680 ]
siMp | AL 76811 =8 [ 7681 ] * C[ 7681 ]
Threadd | i =
Al 7ma1 =8 (7711 ] * c[ 7711 )
AL 7712) =8 (7712 1 * ¢ 7712 ] i
SIMD | AL 77131 =8 [7713 ] * C[ 7713 ]
" Threadt =
| Thread B s ~-
Block L AL 7743] =8 [7743 ] * C[ 7743 ]
15 AL 77441 =B [ 7784 1 = C[ 7744 ]
A} 31-‘59] -8 {81-59 ] :c[ 8159 }
; ["A[ 81607 =B [8160 ] * C[ 8160 ]
[ SIMD T ar 8161] = B [ 8161 ] * C[ 8161 ]

e

g

I

Threadl
5 %

i

[A[ 81017 =B [ 8191 ] * C[ 8191 ]

CUDA:
gridDim = 16; blockDim = 512 (total 8192 threads); warp size = 32

OpenCL:
global_size = 8192; local_size = 512; wavefront size = 32

H&P: “SIMD Thread i” means warp (wavefront) i.
For Both:

Each thread block (work group) assigned in its entirety to one SM. This will be of
major importance later when we discuss use of shared memory (local memory).



